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Introduction
In RAN2#124 meeting, RAN2 discussed detailed procedure for satellite switch with resync and sent an LS to RAN1 to get RAN1’s feedback on the feasibility [1]. 
	RAN2 also agreed to support hard satellite switch (non-overlapping satellite coverage at switching time) and soft satellite switch (overlapping satellite coverage at switching time). The soft satellite switch procedure and the hard satellite switch procedure are the same except for the following two differences.
· Difference 1: The time for UE to initiate the satellite switch procedure is different. 
· For hard satellite switch, UE initiates the procedure after the source satellite stops serving the area it is currently covering service (i.e. T-service). 
· For soft satellite switch, UE can initiate the procedure before the source satellite stops serving the area it is currently covering service (i.e. T-service) and after the target satellite starts serving the same area (i.e. T-start), and the exact time when the UE starts synchronizing with target satellite (between T-start and T-service) is up to UE implementation. 
· For soft satellite switch, RAN2 would like to get feedback on the feasibility that a UE supporting soft satellite switch can start synchronizing to the DL of the SpCell served by the target satellite while still being connected to the source satellite (without any simultaneous communication with the source and the target satellites).
· Difference 2: The SSB information provided to UE for synchronizing with target satellite is different.
· For soft satellite switch, the SSB information of target satellite is mandatory.
· For hard satellite switch, the SSB information of target satellite can be same as source and can be optional. 



Discussion
In RAN2’s understanding,  in order to support soft satellite switch, the UE needs to start synchronization with the target SpCell served by the target satellite, while still being connected to the source satellite. If the two satellites do not share the same timing at the UE side, it may cause two implications: 1) the UE needs to maintain two synchronization at the same time. 2) the UE does not need to maintain two synchronization at the same time but to switch from one synchronization to the other. We think that for 2) the feasibility may be okay but for 1) the feasibility cannot be ensured. Moreover, it was agreed in RAN1 that the soft satellite switch does not require the UE to communicate with two satellites, which means that while the UE performs synchronization with the SpCell served by the target satellite, the UE does not perform any reception or transmission with the source satellite. Bearing this in mind, there is no need for the UE to keep two synchronization at the same time, since the UE will not perform any communication with the source satellite. 
Proposal : RAN1 replies to RAN2 that the feasibility depends on whether the UE is required to keep two synchronization at the same time. Given that the UE does not perform communications with two satellite at the same time, there is no need to keep two synchronization at the same time. 
Conclusion
In this document, we discuss the LS from RAN2 on the feasibility of satellite switch with resync, and we suggest the following proposal.
Proposal : RAN1 replies to RAN2 that the feasibility depends on whether the UE is required to keep two synchronization at the same time. Given that the UE does not perform communications with two satellite at the same time, there is no need to keep two synchronization at the same time. 
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